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import sys
sys.path.append("statlib™)
from xtest import var_test

var_test(x, y, alternative="two_sided", conflevel=0.95, verbose=True)
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import sys
sys.path.append("statlib")
from xtest import var_test2

var_test2(nx, ux, ny, uy, alternative="two_sided", conflevel=0.95, verbose=True)
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import sys
sys.path.append("statlib")

from xtest import var_test

a =

var_test(x, y)

F test to compare two variances
F = 0.53613, dfl = 13, df2 = 18,

alternative hypothesis: true ratio of variances is not equal to 1

p value = 0.25614

95 percent confidence interval:
0.19637 1.5994

sample estimates: ratio of variances = 0.53613
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import numpy as np
from xtest import var_test2

np.random.seed(123) # B OE (XEKRFFE)

b = var_test2(len(x), np.var(x, ddof=1), len(y), np.var(y, ddof=1))

F test to compare two variances



F = 0.53613, dfl = 13, df2 = 18, p value = 0.25614
alternative hypothesis: true ratio of variances is not equal to 1
95 percent confidence interval:

0.19637 1.5994

sample estimates: ratio of variances = 0.53613

import numpy as np
from xtest import var_test2

print(len(x), np.var(x, ddof=1), len(y), np.var(y, ddof=1))

14 2.21978021978022 19 4.140350877192983

np.random.seed(123) # EBOE (FEKRIXFE)
c = var_test2(14, 2.22, 19, 4.14)

F test to compare two variances

F = 0.53623, dfl = 13, df2 = 18, p value = 0.25628
alternative hypothesis: true ratio of variances is not equal to 1
95 percent confidence interval:

0.19641 1.5997

sample estimates: ratio of variances = 0.53623
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np.random.seed(123) # B OE (FXEKRFFE)
d = var_test2(len(x), np.var(x, ddof=1), len(y), np.var(y, ddof=1))

F test to compare two variances

F = 0.53613, dfl = 13, df2 = 18, p value = 0.25614
alternative hypothesis: true ratio of variances is not equal to 1
95 percent confidence interval:

0.19637 1.5994

sample estimates: ratio of variances = 0.53613
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